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For the Torah will go forth from Tzeeyon — 77790 RXn JPxR 9D

OVERVIEW

The X3 relates that there was a time when the children were taught 770 in 2521
based on the P05 of! [@%wW1°n '7 92a7] A0 X¥N 11°%7 2. Our MooIN explains why
indeed does the P10 state that 7710 comes forth from 2°7w17 10X,
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For when the child would see the great holiness and the 2°1712 occupied in the
service of the wipna o2 -
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He would direct his heart to the fear of heaven and to study 770 —

Moo supports his view:
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As the s15% expounds the ?109 of, ‘in order that you shall learn to fear, etc.’;

this teaches us that "1w =wwn is great, for it brings to studying the 7n. This
concludes the >790 —

MooIn explains how does eating w"¥n in 0917 bring to TM%N:
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For the person who brought his w"y»n to 0521, would remain there until he

finished eating all his @''y% (which may be eaten only in 2°9u17°) -
— 2Y32) DY NINDNI DIPDIY DYDY AN A

And he would see that everyone is involved in the work of heaven and in the

service of the p"»ma -
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So he too would direct himself to fear heaven and be occupied in 790 study.

SUMMARY
Being in a place where people are acting in a holy manner has that same effect on
the visitor.
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THINKING IT OVER

1. mooIn assumes that being in the environment of 2°7w17° causes one to be 191 to
7NN TR 2w R, and MooIN cites the 190 as proof. However there is no more
proof from the »190 that the environment causes it,’ than from our X3 here. Why
does MooIn cite the *1o0?

2. Why the different mnw?; regarding the child learning in 2°%w17°, MoOIN writes,
77N IS 07w NRY AN 2% 101 707, while regarding w"'vn, MO0IN writes, @3 77
77N PRI 2°NW NRTD o7 XK. [Similarly regarding their impression; by the child
he writes, 7712¥2 2P0 297727 79I7A AWITP IR AW 009, and regarding w"vn he
writes, TT12Y2) 292w NORYR2 2°POIY 2RISW IR 1O.]

5> The 90 merely states that (eating the) w"vn (in 2°5w17°) causes 71N 7w, but not that it is on account of the
environment.
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